District School Board of Pasco County Bid Recommendation

| Bid Title | Grounds Maintenance – SOES & TES – Maintenance | Number of Vendors Notified | 168 |
|----------------------------|--|---------------------------------|-------------------------|
| Bid Number | 10-036-GF | Number of Bids Distributed | 23 |
| Date Solicited | June 17, 2009 | Number of Vendors Bidding | 10 |
| Date Opened | July 14, 2009 | Number of "No Bid" Responses | 13 |
| Date Board Presentation | July 28, 2009 | Funding Source | General |
| Total Savings | \$9,915.59 | Grand Total of Bid | \$29,628.00 Estimate |

<u>Recommendation</u>: Recommend acceptance of bids as noted on attached bid tabulation sheet as lowest and best responsive, responsible bid from Capital Land Management Corporation for Seven Oaks Elementary and Green Expectations for Trinity Elementary Schools meeting written specifications.

<u>Term of Contract</u>: This bid is for grounds maintenance at Seven Oaks Elementary and Trinity Elementary Schools. Grand total is an estimate only, unit prices will prevail. This is the first year of a three-year bid renewable annually by mutual consent of both parties. The first year contract period is July 30, 2009 through July 29, 2010.

<u>Notations and Exceptions</u>: Savings determined by averaging all non-awarded vendor prices and subtracting from recommended vendor's pricing.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Edward Flicker, Custodial Coordinator

<u>Bids Prepared By</u>: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

| DATE OF OPENING: JULY 14, 200 | | A Team Lawn Serv | | All Star Landscapi | | Capital Land M | |
|---|-----------------------|---------------------|-------------|-----------------------|-------------|----------------|---------------|
| BID TITLE: GROUNDS MAINTENANCE - SOES & TES | | 8610 Jolly Roger Dr | | 62 Beverly Hills Blvd | | 9830 Yawn Rd | |
| BID #: 10-036-GF | | Hudson, FL 34667 | | Beverly Hills, FL | 34465 | Dade City, FL3 | 3525 |
| ITEM # DESCRIPTION | | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE |
| PROJECT A | | | TOTHETHOE | or an indeed | TOTHETHOE | of the filler | 10 mill Fluel |
| GROUNDS MAINTENAI | NCE - SOES | | | | | | |
| Mowing, Weeding & Strin | | 22.00 | 836.00 | 325.00 | 12,350.00 | 256.00 | 9,728.00 |
| Edging | 38 | No Charge | No Charge | 50.00 | | | Included |
| Hedge Trimming (annual b | | 12000.00 | 12,000.00 | | , | | Included |
| Pruning (Palms) | 2 | No Charge | No Charge | 225.00 | | | Included |
| Pruning (non-Palms) | 1 | No Charge | No Charge | 200.00 | | | Included |
| Mulching | 2 | 600.00 | 1,200.00 | | | | 4,000.00 |
| | - | 000.00 | 1,200.00 | | 000.00 | _, | ., |
| GRAND TOTAL | | | 14,036.00 | | 16,900.00 | | 13,728.00 |
| | | | , | | , | | , |
| ADDITIONAL MULCH: | PER CUBIC YARD PRICE: | | 40.00 | | 50.00 | | 40.00 |
| | | | | | | | |
| COST FOR 10' x 10' BED | DING AREA: | | 50.00 | | 50.00 | | 100.00 |
| | | | | | | | |
| | | | | | | | |
| PROJECT B | | | | | | | |
| GROUNDS MAINTENA | NCE - TES | | | | | | NB |
| Mowing, Weeding & Strin | | 32.00 | 1,216.00 | 350.00 | 13,300.00 | | |
| Edging | 38 | No Charge | No Charge | 75.00 | | | |
| Hedge Trimming (annual b | | 14310.00 | 14,310.00 | | | | |
| Pruning (Palms) | 2 | No Charge | No Charge | No Charge | No Charge | | |
| Pruning (non-Palms) | 1 | No Charge | No Charge | 300.00 | | | |
| Mulching | 2 | 600.00 | 1,200.00 | | | | |
| | | | , | , | , | | |
| GRAND TOTAL | | | 16,726.00 | | 22,450.00 | | |
| | | | | | - | | |
| ADDITIONAL MULCH: | PER CUBIC YARD PRICE: | | 40.00 | | 50.00 | | |
| | | | | | | | |
| COST FOR 10' x 10' BED | DING AREA: | | 50.00 | | 50.00 | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |

| DATE OF OPENING: JULY 14, 2009 2:30 PM | Central Florida L | andscaping | Gibbs Properties | | Green Expectation | |
|---|-------------------|-------------|------------------|-------------|-------------------|-------------|
| BID TITLE: GROUNDS MAINTENANCE - SOES & TES | 6109 Orient Rd. | | | | 31536 Stirrup Ln | |
| BID #: 10-036-GF | Tampa, FL 33610 |) | Odessa, FL 33556 | | Wesley Chapel, I | FL 33543 |
| | | | | | | |
| ITEM # DESCRIPTION | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE |
| PROJECT A | | | | | | |
| GROUNDS MAINTENANCE - SOES | | | | | | |
| Mowing, Weeding & String Trimming 38 | 258.00 | 9,804.00 | | 10,450.00 | | 9,500.00 |
| Edging 38 | 51.50 | 1,957.00 | | 950.00 | | 1,900.00 |
| Hedge Trimming (annual basis) 1 | 2,967.00 | 2,967.00 | | | | 1,100.00 |
| Pruning (Palms) 2 | No Charge | No Charge | No Charge | No Charge | 50.00 | 100.00 |
| Pruning (non-Palms) 1 | 200.00 | 200.00 | | No Charge | 200.00 | 200.00 |
| Mulching 2 | 630.00 | 1,260.00 | 600.00 | 1,200.00 | 750.00 | 1,500.00 |
| | | | | | | |
| GRAND TOTAL | | 16,188.00 | | 16,200.00 | | 14,300.00 |
| | | 10.00 | | | | 15.00 |
| ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 42.00 | | 50.00 | | 45.00 |
| COST FOR 10' x 10' BEDDING AREA: | | 50.00 | | 50.00 | | 35.00 |
| | | | | | | |
| | | | | | | |
| PROJECT B | | | | | | |
| GROUNDS MAINTENANCE - TES | | | | | | |
| Mowing, Weeding & String Trimming 38 | 271.25 | 10,307.50 | | 10,450.00 | | 9,500.00 |
| Edging 38 | 38.75 | 1,472.50 | | 950.00 | | 2,850.00 |
| Hedge Trimming (annual basis) 1 | 3,465.00 | 3,465.00 | 4,200.00 | 4,200.00 | 1,000.00 | 1,000.00 |
| Pruning (Palms) 2 | 150.00 | 300.00 | | No Charge | 500.00 | 1,000.00 |
| Pruning (non-Palms) 1 | 150.00 | 150.00 | | No Charge | 250.00 | 250.00 |
| Mulching 2 | 840.00 | 1,680.00 | 700.00 | 1,400.00 | 650.00 | 1,300.00 |
| | | | | | | |
| GRAND TOTAL | | 17,375.00 | | 17,000.00 | | 15,900.00 |
| ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 42.00 | | 50.00 | | 35.00 |
| ADDITIONAL MOLETI, I EK CODIC TAKD I KICE. | | 72.00 | | 50.00 | | 55.00 |
| COST FOR 10' x 10' BEDDING AREA: | | 50.00 | | 50.00 | | 45.00 |
| | | | | | | |
| | | | | | | |
| | _ | | | | | |
| | | | | | | |

| DATE OF OPENING: JULY 14, 2009 2:30 PM | Natural Design L | andscaping | Raymow Enterp | rises Incorp. | Whit TLA, Inc. | |
|---|------------------|-------------------|----------------------------|---------------|-------------------------|-------------|
| BID TITLE: GROUNDS MAINTENANCE - SOES & TES | P.O. Box 1678 | | 101 Dunbar Avenue, Suite G | | 1500 Highwood Place | |
| BID #: 10-036-GF | Lutz, FL 33548 | Oldsmar, FL 34677 | | 677 | Wesley Chapel, FL 33543 | |
| | | | | | | |
| ITEM # DESCRIPTION | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE | UNIT PRICE | TOTAL PRICE |
| PROJECT A | | | | | | |
| GROUNDS MAINTENANCE - SOES | | | | | | |
| Mowing, Weeding & String Trimming 38 | 375.00 | 14,250.00 | 336.00 | 12,768.00 | 220.00 | 8,360.00 |
| Edging 38 | 100.00 | | | | | 3,800.00 |
| Hedge Trimming (annual basis) 1 | 600.00 | 600.00 | 672.00 | 672.00 | 1,000.00 | 1,000.00 |
| Pruning (Palms) 2 | No Charge | No Charge | No Charge | No Charge | 200.00 | 400.00 |
| Pruning (non-Palms) 1 | No Charge | No Charge | 120.00 | 120.00 | 1,000.00 | 1,000.00 |
| Mulching 2 | 1,200.00 | 2,400.00 | 1,000.00 | 2,000.00 | 10.00 | 20.00 |
| | | | | | | |
| GRAND TOTAL | | 21,050.00 | | 17,156.00 | | 14,580.00 |
| | | 47.00 | | 10.00 | | 10.00 |
| ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 45.00 | | 40.00 | | 40.00 |
| COST FOR 10' x 10' BEDDING AREA: | | 50.00 | | 24.00 | | 40.00 |
| | | | | | | |
| | | | | | | |
| PROJECT B | | | | | | |
| GROUNDS MAINTENANCE - TES | | | | | | |
| Mowing, Weeding & String Trimming 38 | 350.00 | 13,300.00 | 350.00 | 13,300.00 | 340.00 | 12,920.00 |
| Edging 38 | 100.00 | | | | | 7,600.00 |
| Hedge Trimming (annual basis) 1 | 600.00 | 600.00 | 2,352.00 | 2,352.00 | 1,000.00 | 1,000.00 |
| Pruning (Palms) 2 | No Charge | No Charge | 240.00 | 480.00 | 400.00 | 800.00 |
| Pruning (non-Palms) 1 | 200.00 | 200.00 | 140.00 | 140.00 | 2,000.00 | 2,000.00 |
| Mulching 2 | 1,600.00 | 3,200.00 | 2,000.00 | 4,000.00 | 60.00 | 120.00 |
| | | | | | | |
| GRAND TOTAL | | 21,100.00 | | 22,400.00 | | 24,440.00 |
| ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 45.00 | | 40.00 | | 40.00 |
| ADDITIONAL WOLCH, PER CUDIC TARD PRICE: | | 43.00 | | 40.00 | | 40.00 |
| COST FOR 10' x 10' BEDDING AREA: | | 50.00 | | 24.00 | | 40.00 |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |

| DATE O | F OPENING: JULY 14, 2009 2:30 PM | Your Environmental | | |
|---|---|----------------------|-------------|--|
| BID TITLE: GROUNDS MAINTENANCE - SOES & TES | | 36707 Laurel Oaks Ln | | |
| BID #: 1 | 0-036-GF | Dade City, FL 33525 | | |
| | | | | |
| ITEM # | DESCRIPTION | UNIT PRICE | TOTAL PRICE | |
| | PROJECT A | | | |
| | GROUNDS MAINTENANCE - SOES | | | |
| | Mowing, Weeding & String Trimming 38 | 181.05 | 6,879.90 | |
| | Edging 38 | 100.00 | 3,800.00 | |
| | Hedge Trimming (annual basis) 1 | 3,000.00 | 3,000.00 | |
| | Pruning (Palms) 2 | 500.00 | 1,000.00 | |
| | Pruning (non-Palms) 1 | 250.00 | 250.00 | |
| | Mulching 2 | 2,535.00 | 5,070.00 | |
| | | | | |
| | GRAND TOTAL | | 19,999.90 | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 39.00 | |
| | COST FOR 10' x 10' BEDDING AREA: | | 50.00 | |
| | PROJECT B | | | |
| | GROUNDS MAINTENANCE - TES | | | |
| | Mowing, Weeding & String Trimming 38 | 200.00 | 7,600.00 | |
| | Edging 38 | 150.00 | 5,700.00 | |
| | Hedge Trimming (annual basis) 1 | 5,000.00 | 5,000.00 | |
| | Pruning (Palms) 2 | 500.00 | 1,000.00 | |
| | Pruning (non-Palms) 1 | 500.00 | 500.00 | |
| | Mulching 2 | 2,730.00 | 5,460.00 | |
| | GRAND TOTAL | | 25,260.00 | |
| | | | | |
| | ADDITIONAL MULCH: PER CUBIC YARD PRICE: | | 39.00 | |
| | COST FOR 10' x 10' BEDDING AREA: | | 50.00 | |
| | | | | |
| | | | | |
| | | <u>]</u> | | |